0. [Java] ??7? ?7?(?7?, Set) -
set.contains(str)

https://school.programmers.co.kr/learn/courses/30/lessons/120903
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import java.util.*;

class Solution {
public int solution(String[] s1, String[] s2) {
Set<String> set = new HashSet<>(Arrays.asList(sl));
int cnt = 0;
for (String str : s2) {
if (set.contains(str)) cnt++;

}

return cnt;

? Set<String> set = new HashSet<>(Arrays.asList(s1));
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class Solution {
public int solution(String[] s1, String[] s2) {
int ¢cnt = 0;

for (int i = 0; i < sl.length; i++) {



for (int j = 0; j < s2.length; j++) {
if (s1l[i].equals(s2[j1)) {
cnt++;

break;

}

return cnt;
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